





L 05" x lﬂsx + 1 = (Q{MKA'Q/ObX ) < (?x=’ﬂ‘

Cos Y

- 2 - . :
L = 1m>X(‘qX“’/] - lc&b‘X' Svu X +4 -
Cosx

:2-003)('5\'\/\)( _\,/‘

Leosx stux  + siulx + cov’x =
2

= v x * L sinx cosx F ool x =

2
( S\ X *’bosx) - P

Z
?: <§\V\X ¥ Loy x ) = 3\'\,\7,( L 7 sux Loox + o ¢
L cp¢

S X



_ L > os (o4 P)twb&ws - suy SNu
w5 ¥5% 1 ey (3074 1°) - P’ 7

= Cos %0 . C»D$L15° - 5m 0 siwbS g

R N
- {E—E— e -
H Y '7(4



2 sim (Zx-0) =1 /2 sud = !

DL = 300 - I
v [ 2x-w) = 2
( X ) L L & ¢
Ax-wztrnw R I v vl
b 2 4\ Lf; il '_;Tr\_;-._/zﬁ
— LI

2 X =17 + “g YQJL;







O - veont

43S - 5.5 A’°K’
G -3 dat
85 - A0 db

40()—" AL HJO




Nl + osiw Z X = CAObZX Stuldx = L siux cogx
wsdx = (/oszx-su'uzx
/\ b L 5ux wosx = codx - S\\azx
) SCUK
; ¥ 2 : -
SMX Y WO X F LUgvux Losx = o8’ % - siwlx A l
2 4
9.‘5\\;\ ) S :L‘S\'MX wsx < 0O /; (4 l n ‘T\JZ-T
l
) .
G- X + s X Cosx = O
S\ x ‘(5“\/\)< P wosx) = O
I
Y V
Wyt o S\vux + CLodxx = QO B —N)
A

X0\ Sy = -
Y Tku ke {

- oY X




